TIWINOK®

RO (HLFH)

TIWINOK 5} 11 RIIFAOLEL I (BHRHG) BE (FB) BHRRER

w Li
4-Mx1—| B c
IR e T T =
=s oD M@| & as O
’b)‘\ | ; (]
B b < | | |
ES [ / I
dd
E P
N Py e : SUmER| BANE | BABE | . =
/%yu g%& —E.'ﬁ:)il_j‘ (mm) }%ﬁ%ﬁﬂ‘ (mm) %ﬁﬁ"f‘ (mm) BB R~ eyt SR 'Q'T!F%jj%ﬁ HE
HAE WRO| M| MY | R | S
REZ | H | HL N W | B C L1 L G Mx| T | H2 | Wr HR D h d P E (mm) C (kN) [CO (kN) kN=m | kN-m | KN-m e ki
HG15| 11211 | 28 [4.3] 9.5 | 34|26 | 26 | 39.4 | 61.4 | 5.3 | M4xbh 6 |7.95] 15 15 | 7.5 5.3 4.5 60 20 M4x16 11. 38 16. 97 0.12 | 0.10 | 0.10 | 0.18 | 1.45
11218 50. 5 . 17.75 217. 0.27 .2 0.20 .
HG20 30 [4.6] 12 |44 | 32 3 7.5 12 M5x6 8 6 20 [17.519.5 [ 8.5 6 60 20 M5x16 7.76 0. 20 0. 30 2.21
11248 50 | 65.2 | 92.2 21. 18 35. 90 0.35 ] 0.35 | 0.35 | 0.39
11212 58 4 26. 48 .4 0. 42 . 0.33 .51
HG25 40 |5.5(12.5| 48 | 35 35 8 12 M6x8 8 10 | 23 22 11 9 7 60 20 M6x20 36. 49 0.33 0.5 3.21
11242 50 | 78.6 | 104.6 32.75 49.44 | 0.56 | 0.57 | 0.57 | 0.69
HG30 L1217 45| 6 16 | 60 | 40 10 70 7.4 12 | M8x10 |8.5(9.5| 28 26 14 12 9 80 20 M8x25 38. 74 52. 19 0.66 | 0.53 | 0.53 | 0.88 4. 47
11247 60 93 120. 4 47. 27 69. 16 0.88 | 0.92 | 0.92 | 1.16
HG35 1213 55 [7.5] 18 |70 | 50 20 80 |112.4 12 | M8x12 |10.2| 16 | 34 29 14 12 9 80 20 M8x25 49. 52 69. 16 1.16 | 0.81 ] 0.81 | 1.45 6. 30
11243 72 [105.8]138.2 60. 21 91. 63 1.54 | 1.40 | 1.40 | 1.92
HG45 1214 70 [9.5]20.5| 86 | 60 60 o7 |139.4 12. 9| M10x17 | 16 |18.5] 45 38 20 17 14 | 105 [22.5| M12x35 1. 57 102.71 | 1.98 | 1.55 | 1.95 | 2.73 10.41
11244 80 |128.8|171.2 94. 54 136.46 | 2.63 | 2.68 | 2.68 | 3.61
11215 117.7] 166. 114. 44 | 148. 3.69 | 2.64 | 2.64 | 4.1
HG55 80 | 13 [23.5[100| 75 75 66. 7 12. 9| M12x18 [17.5| 22 | 53 44 23 20 16 | 120 | 30 M14x45 8.33 6 ! 15. 08
11245 95 |155.8(204.8 139.35 | 196.20 | 4.88 | 4.57 | 4.57 | 5.49
11216 144. 2 200. 2 163.63 | 215. 6.65 | 4.2 4.27 .
HG65 90 | 15 [31.5[126]| 76 70 00 12. 9| M16x20 | 25 | 15 | 63 B} 26 22 18 | 150 | 35 M16x50 5. 33 7 7. 00 21. 18
11246 120 | 203. 6| 259. 6 208.36 | 303.13 | 9.38 | 7.38 | 7.38 | 9.82




